
MATHS

BOOKS - NCERT MATHS (ENGLISH)

BINOMIAL THEOREM

Shrot Answer Type Question

1. Find the term independent of , where

, in the expansion of .

Watch Video Solution

x

x ≠ 0 ( − )
15

3x2

2

1

3x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ezyb60ySkDmR


2. If the term free from 
 in the expansion of


is 
, find the value of 

Watch Video Solution

x

(√x − )
10

k

x2
405 k.

3. Find the coefficient of  in the expansion of

.

Watch Video Solution

x

(1 − 3x + 7x2)(1 − x)
16

https://dl.doubtnut.com/l/_ezyb60ySkDmR
https://dl.doubtnut.com/l/_BqfVyFvRLFYv
https://dl.doubtnut.com/l/_e11iLlKNrZYw
https://dl.doubtnut.com/l/_HwNFJHk2yx7J


4. Find the term independent of  in the

expansion of .

Watch Video Solution

x

(3x − )
152

x2

5. Find the middle term (terms) in the

expansion of 

(i)  (ii) 

Watch Video Solution

( − )
10x

a

a

x
(3x − )

9
x3

6

https://dl.doubtnut.com/l/_HwNFJHk2yx7J
https://dl.doubtnut.com/l/_I8LQNDbkjjkB


6. Find the coefficient of  in the expansion

of 

Watch Video Solution

x15

(x − x2)
10

7. The coefficient of  in the expansion of 

 is

Watch Video Solution

x − 17

(x4 − )
15

1

x3

https://dl.doubtnut.com/l/_pzdEsX30PFze
https://dl.doubtnut.com/l/_m5qmLRRHj5mN


8. Find the sixth term in the expansion


, if the binomial coefficient of the

third term of the end is 

Watch Video Solution

(y + x )
n1

2
1
3

45.

9. If the coefficients of (2r + 4)th, (r - 2)th terms

in the expansion of  are equal, find r.

Watch Video Solution

(1 + x)18

https://dl.doubtnut.com/l/_mVenhwvraIcB
https://dl.doubtnut.com/l/_8b04O1m0ntbu


Long Answer Type Question

10. If the coefficient of 2nd, 3rd and 4th
terms

in the expansion of 
are in A.P. , show

that 

Watch Video Solution

(1 + x)2n

2n2 − 9n + 7 = 0.

11. Find the coefficient of 
 in the expansion

of 

Watch Video Solution

x4

(1 + x + x2 + x3)
11

.

https://dl.doubtnut.com/l/_QI7j0hck32zE
https://dl.doubtnut.com/l/_SfKU0FQY9PGX


1. If p is a real number and the middle term in

the expansion of  is 1120, then find

the value of p.

Watch Video Solution

( + 2)
8p

2

2. Show that the middle term in the expansion


 
.

Watch Video Solution

(x − )
2n

is
1

x
( − 2)n1. 3. 5(2n − 1)

n

https://dl.doubtnut.com/l/_juSqzPEkW3vk
https://dl.doubtnut.com/l/_DeyqHgZriIP2
https://dl.doubtnut.com/l/_tio6LYg9AhqB


3. If the seventh term from the beginning and

end in the binomial
 expansion of


are equal, find 

Watch Video Solution

(23 + )
n

,
1

33
n.

4. If 
be the sum of odd terms and 
that of

even terms in the expansion of 
prove

that:
 
 (ii) 


 (iii) 

View Text Solution

o E

(x + a)n

O2 − E2 = (x2 − a2)
n

4OE = (x + a)2n − (x − a)2n

2(O2 + E2) = (x + a)2n + (x − a)2n

https://dl.doubtnut.com/l/_tio6LYg9AhqB
https://dl.doubtnut.com/l/_7Tjak7JrNzkR


5. If 
 occurs in the expansion of 


 , prove that its coefficient is


.

Watch Video Solution

xp

(x2 + 1/x)
2n

(2n) !

[ (4n − p)] ![ (2n + p)] !1
3

1
3

6. Find the term independent of 
 in the

expansion of

Watch Video Solution

x

(1 + x + 2x3)[(3x2 /2) − (1/3)]
9

https://dl.doubtnut.com/l/_7Tjak7JrNzkR
https://dl.doubtnut.com/l/_KdDzv2Plp4Tm
https://dl.doubtnut.com/l/_QN81gJLBvH2O


Objective Type Question

1. about to only mathematics

A. 50

B. 202

C. 51

D. None of these

Answer: A

https://dl.doubtnut.com/l/_QN81gJLBvH2O
https://dl.doubtnut.com/l/_1dmDs17QReJx


Watch Video Solution

2. Given positive integers 

being even and the coefficient of  term

and  term in the expansion of 

 are equal; find r

A. 

B. 

C. 

D. None of these

r > 1, n > 2, n

(3r)th

(r + 2)th

(1 + x)2n

n = 2r

n = 3r

n = 2r + 1

https://dl.doubtnut.com/l/_1dmDs17QReJx
https://dl.doubtnut.com/l/_EMelTbrqRocf


Answer:

Watch Video Solution

3. Find the two successive terms in the

expansion of  whose coefficients are

in the ratio .

A. 3rd and 4th

B. 4th and 5th

C. 5th and 6th

D. 6th and 7th

(1 + x)24

1: 4

https://dl.doubtnut.com/l/_EMelTbrqRocf
https://dl.doubtnut.com/l/_q0rRapRS3u9i


Answer: C

Watch Video Solution

4. Prove that the coefficient of  in the

expansion of  is twice the coefficient

of  in the expansion of 

A. 

B. 

C. 

D. 

xn

(1 + x)2n

xn (1 + x)2n − 1

1: 2

1: 3

3: 1

2: 1

https://dl.doubtnut.com/l/_q0rRapRS3u9i
https://dl.doubtnut.com/l/_PITekadZYgvb


Answer:

Watch Video Solution

5. If the coefficients of 2nd, 3rd and 4th terms

in the expansion of  are in A.P., then

find the value of n.

A. 2

B. 7

C. 11

D. 14

(1 + x)n

https://dl.doubtnut.com/l/_PITekadZYgvb
https://dl.doubtnut.com/l/_u3onSipkYlbU


Answer:

Watch Video Solution

6. If A and B are the coefficients of  in the

expansion  and 

respectively, then  is

A. 1

B. 2

C. 

D. 

xn

(1 + x)2n (1 + x)2n − 1

A

B

1

2

1

n

https://dl.doubtnut.com/l/_u3onSipkYlbU
https://dl.doubtnut.com/l/_wpytNand26Z5


Answer: B

Watch Video Solution

7. If the middle term in the binomial expansion

of 
 is equal to 
 find the

value of 

A. 

B. 

C. 

( + x sin x)
10

1

x
,

63

8

x.

2nπ +
π

6

nπ +
π

6

nπ + ( − 1)
n π

6

https://dl.doubtnut.com/l/_wpytNand26Z5
https://dl.doubtnut.com/l/_iuM6dkIwr0bW


D. 

Answer: C

Watch Video Solution

nπ + ( − 1)n π

3

8. The largest coefficient in the expansion of

 is.......

Watch Video Solution

(1 + x)30

https://dl.doubtnut.com/l/_iuM6dkIwr0bW
https://dl.doubtnut.com/l/_hltbc3dzwlgX


9. The number of terms in the expansion of

Watch Video Solution

(a + b + c)n, wheren ∈ N.

10. In the expansion of , the

value of constant term is......

Watch Video Solution

(x2 − )
16

1

x2

https://dl.doubtnut.com/l/_nNJKk1SwNG1b
https://dl.doubtnut.com/l/_3YSTXcQbD1OT


11. If the seventh, terms from the beginning

and the end in the expansion of

 are equal, then n is equal to



(i) 10


(ii) 11


(iii) 12


(iv) 13

Watch Video Solution

( 3√2 + )

n
1

3√3

https://dl.doubtnut.com/l/_bV1aX47Cf09c


12. The coefficient of  in the expansion of

 is......

Watch Video Solution

a − 6b4

( − )
10

1

a

2b

3

13. Middle term in the expansion of

 is ......

Watch Video Solution

(a3 + ba)
28

https://dl.doubtnut.com/l/_a7mA6rWLqt3K
https://dl.doubtnut.com/l/_lco1Ao2jyK88


14. If p and q
are positive, then prove that the

coefficients of  and 
 in the expansion of 


will be equal.

Watch Video Solution

xp xq

(1 + x)p + q

15. The position of the term independent of 

in the expansion of  is ......

Watch Video Solution

x

(√ + )
10

x

3

3

2x2

https://dl.doubtnut.com/l/_rfY7dzCEnAMZ
https://dl.doubtnut.com/l/_FAhe1AP7XKEF


True False

16. If  is divided by 13, then the remainder

is .....

Watch Video Solution

2515

1. The sum of the series

Watch Video Solution

Σ10
r= 0

20Cr  is 219 +
20C10

2

https://dl.doubtnut.com/l/_qJV2HJyDyvPL
https://dl.doubtnut.com/l/_Su2a3EVixPoQ
https://dl.doubtnut.com/l/_5upa7T3OkBqq


2.  is divisible by (A) 16 (B) 24 (C) 64 (D)

72

Watch Video Solution

79 + 97

3. The number of term in the expansion of

 is 8

Watch Video Solution

[(2x + 3y)
4]

7

https://dl.doubtnut.com/l/_5upa7T3OkBqq
https://dl.doubtnut.com/l/_RXWltRLj2u7C


4. Find the sum of the coefficient
of to middle

terms in the binomial expansion of

Watch Video Solution

(1 + x)2n − 1

5. Write last two digits of the number 

Watch Video Solution

3400.

https://dl.doubtnut.com/l/_RBlnvVWz1b5B
https://dl.doubtnut.com/l/_UaWGKEZFIdNV


6. If the expansion of  contains a

term independent of x, then  is a multiple of

2.

Watch Video Solution

(x − )
2n

1

x2

n

7. The number of term is the expansion of

, where , is one less than the

power 

Watch Video Solution

(a + b)
n

n ∈ N

n

https://dl.doubtnut.com/l/_5T1b9eKFeQO7
https://dl.doubtnut.com/l/_CpnqvoYDamXW



